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Question Id : 6863405051 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863405052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 6863405053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863405054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 6863405055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6863405056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634020018. 2
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Question Id : 6863405051 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863405052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634020002. 2
68634020003. 3
68634020004. 4

Question Number : 2 Question Id : 6863405053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863405054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634020010. 2
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Question Number : 4 Question Id : 6863405055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt ST & ferg TEisTy S1R @ 1 aeTe €
1. fRram e

IS &1 qHS U AT

IR BT

I id BT A1 ST

[ ]

L]

e

Options :

68634020013. 1
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Question Number : 5 Question Id : 6863405056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634020017. 1
68634020018. 2
68634020019. 3
68634020020. 4

Sub-Section Number : 2
Sub-Section Id : 686340152
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863405057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020021. 1
68634020022 2
68634020023. 3
68634020024. 4

Question Number : 6 Question Id : 6863405057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 6863405058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 6863405058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863405059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863405059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 6863405060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 6863405060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020033. 1
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68634020035. 3
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Question Number : 10 Question Id : 6863405061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 10 Question Id : 6863405061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863405062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863405062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634020042. 2
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Question Number : 12 Question Id : 6863405063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863405063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6863405064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6863405064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 6863405065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634020053. 1
68634020054. 2
68634020055. 3
68634020056. 4

Question Number : 14 Question Id : 6863405065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863405066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863405066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 6863405067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A X &5 B T I AP (1), (2). (3) IR (4) G MPTy gof Bl &

AAA| T | AA

OO A | O
1
iy | 9
T .
AA )¢ f

L A

[

Options :

68634020061. 1
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Question Number : 16 Question Id : 6863405067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634020061. 1
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Question Number : 17 Question Id : 6863405068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863405068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863405069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863405069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 6863405070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634020073. 1
68634020074 2
68634020075. 3
68634020076. 4

Question Number : 19 Question Id : 6863405070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634020073. 1
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Question Number : 20 Question Id : 6863405071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 6863405071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 21 Question Id : 6863405072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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C. |9t T=a WaH 111 [fder &1

D. [s%d f&ft= Tad IV, [l

frafead [deedl O I 98l SR &1 99 Sl :

1. A-I. B-III. C-IV. D-II
2. A-IV, B-1, C-III. D-II
3. A-IV. B-1, C-II. D-III
4. A-I. B-IV. C-II. D-III

Options :

68634020081. 1
68634020082. 2
68634020083. 3
68634020084. 4

Question Number : 21 Question Id : 6863405072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

=T 1 (T {3 T0r R 1 1) [ 10 (341 8 [R9R)
A [gS g 3 i EEEa]

B. |4t S g 11 [orfee SR FRreqo
C. |4t Tre=ar WHST I11. [Ffder w1

D. [s3d 90— Tad IV, [l

FafaRad o eal © O 9gl SR & 994 DI

1. A-L B-IIL. C-IV, D-TI
2. A-IV, B-1, C-III, D-II
3. A-IV, B-1, C-II, D-III
4. A-I, B-IV, C-II. D-III

Options :

68634020081. 1

68634020082. 2

68634020083. 3
68634020084. 4



Question Number : 22 Question Id : 6863405073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'SHHYE Hedlge P AT &I aRiE

1. 79, 1979
.19 3fUd. 1975

| )

Lad

.19 5. 1953
4,07 U, 1081

Options :

68634020085. 1
68634020086. 2
68634020087. 3
68634020088. 4

Question Number : 22 Question Id : 6863405073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'S Hedge P AT &I aRiE

1. 79, 1979
.19 3fUd. 1975

| )

3. 19 T, 1953
4,07 U, 1081

Options :

68634020085. 1
68634020086. 2
68634020087. 3
68634020088. 4

Question Number : 23 Question Id : 6863405074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S CAIE R AN

@ 1. FHiET SRt & SR O IR P BHs HIad 8id §
B 11 TSeifear Rl & SR Hd IRR & e o nfad gid 81
SWRIFd BYF & 3l H, A1 4T T f[dwedi & I Hel Gov &1 99 Difoie:

1. PYT1 AR I SHT TeT &
2. BYT1 IR 11 ST Tad &
3. BYT 1 Tel 8. A HYF 11 TTad ©

4. BYF 170 ©. AfchT U 11 el &

Options :

68634020089. 1
68634020090. 2
68634020091. 3
68634020092. 4

Question Number : 23 Question Id : 6863405074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP RYE:

B 1. I fqOR & SR AHT TRR & $he gUiad 8l o |

FY 11 TSR [§ARI & SR O IRR & BHs i guifad 8id ¢
SWRIKI HYA & 3fTclie H, A QU Y [deedl & T 98l Gk &1 99 P

1. PYT1 AR I SHT TeT &
2. BYT1 IR 11 ST Tad &
3. BYT 1 Tel 8. A HYF 11 TTad ©

4. BYF 170 ©. AfchT U 11 el &

Options :

68634020089. 1
68634020090. 2
68634020091. 3
68634020092. 4



Question Number : 24 Question Id : 6863405075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grgIe Yo7 feay &g o mamar sar &2
1. 12T

2. 245
31875
4. 20 U

Options :

68634020093. 1
68634020094. 2
68634020095. 3
68634020096. 4

Question Number : 24 Question Id : 6863405075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qrgure Ia7 faay iy foq o s 22

1. 1299

24T
31875
4. 20 U

Options :

68634020093. 1
68634020094. 2
68634020095. 3
68634020096. 4

[ ]

Question Number : 25 Question Id : 6863405076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A.%%ﬁfﬁﬁ:{ 3TN A Wi WU & FEGARI BT aaa wiayfd R 210,000 § 25,000 31E & @1
feran 81

B. YRd & Hafa nT A [dum 91 & Swiiadr! & adam widyfd M1 25,000 9 7 15,000 9f& &34
@I -ofg R 5

C. g1 AT S 3THR S SHIEdR 98 AedeM B 1/6 7d UK 7 81 W d IH1a 3 Hid Hdit AR 8R
D.Tﬁﬁéiﬂ&wm IR TY-dl & o Wiaw 3R 8! Wier ded g |
i< fau Y fdeedl © § 99 Sugad TR &1 99 iy
1. Had A AR B
2.%ad A, C3IRD
3.%ad A.B3RC

4.%dd A, B.C3RD

Options :

68634020097. 1
68634020098. 2
68634020099. 3
68634020100. 4

Question Number : 25 Question Id : 6863405076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A.%%ﬁfﬁﬁ:{ 3TN A Wi WU & FEGARI BT aaa wiayfd R 210,000 § 25,000 31E & @1
feran 81

B. YRd & Hafa nT A [dum 91 & Swiiadr! & adam widyfd M1 25,000 9 7 15,000 9f& &34
@I -ofg R 5

C. g1 AT S 3THR S SHIEdR 98 AedeM B 1/6 7d UK 7 81 W d IH1a 3 Hid Hdit AR 8R
D.Tﬁﬁéiﬂ&wm IR TY-dl & o Wiaw 3R 8! Wier ded g |
i< fau Y fdeedl © § 99 Sugad TR &1 99 iy
1. Had A AR B
2.%ad A, C3IRD
3.%ad A.B3RC

4.%dd A, B.C3RD

Options :

68634020097. 1
68634020098. 2
68634020099. 3



68634020100. 4

Part B: Public Health

Section Id : 686340102
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340153
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863405077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s true among given data 20, 31, 31. 25, 28, 35, 38, 31. -

1. Mean 1s 31

[ )

. Range 1s 20 - 38
3. Medium 1s 15

4. Mode 15 15

Options :

68634020101. 1
68634020102. 2
68634020103. 3
68634020104. 4

Question Number : 26 Question Id : 6863405077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SIST20. 31, 31, 25, 28. 35.38. 31 T A T T -

1. T A 318

| )

TRIE20-38¢%
AT 158
GgA® 155

L

=Y



Options :

68634020101. 1
68634020102. 2
68634020103. 3
68634020104. 4

Question Number : 27 Question Id : 6863405078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Best way to study relationship between two variables is -

1. Histogram

2

. Pie chart
3. Scatter diagram
4. Barchart

Options :

68634020105. 1
68634020106. 2
68634020107. 3
68634020108. 4

Question Number : 27 Question Id : 6863405078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&l =R & 919 YaY 3ieqgT o3 ol 9§ i 5

1. feeecmm

OIS 3R
4. 308 3G

Options :

68634020105. 1

68634020106. 2

68634020107. 3
68634020108. 4

| )

L

Question Number : 28 Question Id : 6863405079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chi-square test 1s for -

1. Standard error of mean

[

. Standard error of proportion

. Standard error of difference between 2 means

L]

4. Standard error of difference between proportions

Options :

68634020109. 1
68634020110. 2
68634020111. 3
68634020112. 4

Question Number : 28 Question Id : 6863405079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 911 URIerT &1 ITTNT fasa S §:

1. 514 &1 7S Ffe

. U & 7S Ffe
&l Hrel & | Sia) Dl 7 Ffe

. HYTE & &1 3R & A g

Options :

68634020109. 1
68634020110. 2
68634020111. 3
68634020112. 4

| )

[#5]

=

Question Number : 29 Question Id : 6863405080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tests of significance include all except:

1.t test

[ )

.2 8D
3.5D
4. Chi-square

Options :
68634020113. 1



68634020114. 2
68634020115. 3
68634020116. 4

Question Number : 29 Question Id : 6863405080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfiyedor gt  forg ues o Sfarar gt gffed &

1.t

| ]
[ )

3.SD
4. BTe- Ger

Options :

68634020113. 1
68634020114. 2
68634020115. 3
68634020116. 4

Question Number : 30 Question Id : 6863405081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The most frequently observed value in a given set of data 1s known as :

1. Mean
2. Median
3. Mode
4. Arithmetic average

Options :

68634020117. 1

68634020118. 2

68634020119. 3
68634020120. 4

Question Number : 30 Question Id : 6863405081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fom e STeT I= F Uy e aR Uik 7 Seard &
1. 7
Hrfeirel

RED
4. TSP 319d

[ ]

L]

Options :

68634020117. 1
68634020118. 2
68634020119. 3
68634020120. 4

Question Number : 31 Question Id : 6863405082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Example of Nominal data is -

1. Types of hospitals

(B

. Severity of pains
3. Height
4. Grades of obesity

Options :

68634020121. 1
68634020122. 2
68634020123. 3
68634020124. 4

Question Number : 31 Question Id : 6863405082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hicia® S1el BT 3aE0 5!

1. 3T & UDHR
 gTe1 &t diear
AR

4. HIe & &R

Options :
68634020121. 1

| )

L



68634020122. 2
68634020123.3
68634020124. 4

Question Number : 32 Question Id : 6863405083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Standard deviation is a measure of -

1. Chance

[

. Central tendency
3. Deviation from mean value
4. Average deviation

Options :

68634020125. 1
68634020126. 2
68634020127. 3
68634020128. 4

Question Number : 32 Question Id : 6863405083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O faga g arg o3l o
1. AR
P ygf
Ored 719 9 fagaq
4. 31ad fa=e
Options :
68634020125. 1
68634020126. 2

68634020127. 3
68634020128. 4

| ]

[#%]

Question Number : 33 Question Id : 6863405084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Correlation co-efficient varies between -

1.0 to+1
2.-1t0 0
3.-1to+1
4. +1 to +2

Options :

68634020129. 1
68634020130. 2
68634020131. 3
68634020132. 4

Question Number : 33 Question Id : 6863405084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ygday Ui HafaRad o df= gl ¢-
.09+l
190
18+
4. +19+2
Options :
68634020129. 1
68634020130. 2

68634020131. 3
68634020132. 4

| ]

L]

Question Number : 34 Question Id : 6863405085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The "Mean' in statistics

A It 1s arithmetic mean.

B. It is the result of sum of all values divided by total no. of values.
C. It 1s percentage of values

D. It 1s denoted by the sign X (called "X bar")

E. it is easy to calculate and understand.

Choose the correet answer from the options given below:
1. A, B. C and D only
2.B.C.D and E only
3.A . C.Dand E only

4. A.B.D and E only

Options :

68634020133. 1
68634020134. 2
68634020135. 3
68634020136. 4

Question Number : 34 Question Id : 6863405085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tiferet § e &

A T8 IS ATA B |

B. 78 9/t 91 &1 o 91 v T F fgnford o R uma it & T &t oo 21
C. T8 O &1 Ufaerd g

D. 8 9dd X ("X 55" HEl oIl §) GRI FaiRid o o 3
E. U8 T I 0T [&a1 o IahdT 8 3R G o I&dl 2|

- fau U faged! # 9 a9 SUgER IR &1 904 S
1. $aA A, B.C IR D
2.%ad B.C.D 3IRE
3.%ad A.C.D3IRE
4. %9 A.B.D 3RE

Options :

68634020133. 1
68634020134. 2
68634020135. 3
68634020136. 4



Question Number : 35 Question Id : 6863405086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The "Mode' in statistics is -

A. Commonly occurring value in a distribution of data.

B. Most fashionable value in series of observations.

C. It is not affected by extreme items

D. The exact locations 1s often uncertain and not clearly defined
E. It is average of different kind of data.

Choose the correct answer from the options given below:
1. A.B. C and D only
2.A,C,Dand E only
3.A.B.Cand E only

4.B. C.D and E only

Options :

68634020137. 1
68634020138. 2
68634020139. 3
68634020140. 4

Question Number : 35 Question Id : 6863405086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ifere! # S50 &

A. STeT faeRu & Srargaan ufed g e O 8|

B. V&0T 4 Faiie Fafad 74 2|

C. 98 939 Tl gR1 9MTiad T8l sial o

D. oo [RURT SR ST i § SR Tyadr gRyIiNd a1 5
E. U8 [y TR & Se1 &1 394 8

1 fau U famed! A @ a8 SUgER IR &1 90 B
1.%ad A.B.C3IRD
2.%ad A.C.D 3RE
3.%ad A.B.C 3RE
4.%4d B.C.D 3RE

Options :
68634020137. 1
68634020138. 2



68634020139. 3
68634020140. 4

Question Number : 36 Question Id : 6863405087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Case Contral Study 1s usetul as a first step for

1. Searching for a cause of an adverse health outcome

| B

. Conducting Randomised control trials
3. Longitudinal study
4. Calculating relative risk

Options :

68634020141. 1

68634020142. 2

68634020143. 3
68634020144. 4

Question Number : 36 Question Id : 6863405087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A HEam sieraH Hafafea ¥ 9 feges oy vyd 99 & %9 8 Suant &:
il T GRUTH & SRUI & o Wil B3 8q
ArEfwsed (UA T uRien & & fog
. IAEad g
4, Y& SRGH U] 6 & g

a—y

[

L]

Options :

68634020141. 1
68634020142. 2
68634020143. 3
68634020144. 4

Question Number : 37 Question Id : 6863405088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Employees State Insurance (ESI) Act. 1948covers all the factories in India including mines.
railways and defence.

Reason R: Sickness benefits are provided to employees under ESI Act.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.

[

. Both A and R are true and R is NOT the correct explanation of A.
3. A 1s true but R 1s false.

4. A is false but R is true.

Options :

68634020145. 1
68634020146. 2
68634020147. 3
68634020148. 4

Question Number : 37 Question Id : 6863405088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 YA 4T T §: US SHIUDUH (Assertion A) P U U [ARIT § dl GIRT SHD PRI (Reason R) B S
o

AUHYT A: HHART 5T ST (STFITS) ATAFTH, 1048 THET. 6 3R &1 gigd yRa § 9+ sRaEE &
TP (@A) PR

PRUR: ST AFgH & iqria Ul S $orar uReny werH feu o 1
SRIG DY & HTaild 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 SIfog:

1. A SR R 3 981 § AR R. A P Hel R 8

2. A SR R G 981 § 3R R. AP Hel IR 6l &
3. ATEI R AP R TR S R

4 AGE TR SO R TEI B

Options :

68634020145. 1
68634020146. 2
68634020147. 3
68634020148. 4

Question Number : 38 Question Id : 6863405089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Globe thermometer is used for indirect measurement of the mean radiant temperature of the
surroundings,

Statement II: Globe thermometer registers a lower temperature then the ordinary air temperature and radiant
heat.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.

[ ]

. Both Statement I and Statement IT are false.
3. Statement I is correct but Statement II is false.

4. Statement I is incorrect but Statement II is true.

Options :

68634020149. 1
68634020150. 2
68634020151. 3
68634020152. 4

Question Number : 38 Question Id : 6863405089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e dl ey fau g

HU 1 TaTe aroATd aRka & Jreg fafeia araa & s w3 g vgad giar g
HYT 11: TG ATTHTYL. T arg e iR f&fsfia S § on aaeE g axar gl
SWRIFd BYF & 3l H, A1 4T T f[dwedi & I Hel Gov &1 99 Difoie:

L. BYFIAR IS IT B
2. HYF1 AR 11 ST A S
3. PYTIIA T, Al YT I 3T &

4 FYTIHEI e AfpTE I g 8

Options :

68634020149. 1
68634020150. 2
68634020151. 3
68634020152. 4

Question Number : 39 Question Id : 6863405090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rabies free country is -

1. China

b2

. Russia
3. Australia
4. France

Options :

68634020153. 1
68634020154. 2
68634020155. 3
68634020156. 4

Question Number : 39 Question Id : 6863405090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
il 4o o 5
1.9

4.1

Options :

68634020153. 1
68634020154. 2
68634020155. 3
68634020156. 4

Question Number : 40 Question Id : 6863405091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

BCG is given at the age of (for mstitutional deliveries) -

1. 4 weeks

(B

. 6 weeks
3. At birth
4. 12 weeks
Options :

68634020157. 1
68634020158. 2



68634020159. 3
68634020160. 4

Question Number : 40 Question Id : 6863405091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RITTT 3R 799) & U Bee &g amg & &1 o 8 -

1. 4 dtdie
2. 6 ¥idle
3.9
4. 12 Hidlg

Options :

68634020157. 1

68634020158. 2

68634020159. 3
68634020160. 4

Question Number : 41 Question Id : 6863405092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Cost benefit analysis in health management subject 1s an example of :

1. Total Quality Management
2. Management by Objectives
3. Critical Path Method
4. Program Evaluation and Review technique

Options :

68634020161. 1

68634020162. 2

68634020163. 3
68634020164. 4

Question Number : 41 Question Id : 6863405092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020161. 1
68634020162. 2
68634020163. 3
68634020164. 4

Question Number : 42 Question Id : 6863405093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Most cost effective method for control of conununicable disease 1s -

1. Early diagnosis and treatment

b2

. Chemoprophylaxis
3. Active immunization

4, Passive nmununization

Options :

68634020165. 1
68634020166. 2
68634020167. 3
68634020168. 4

Question Number : 42 Question Id : 6863405093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YIR I FO=0 Bt ga9 arTd gHTdt {3 &-
1. YB3 g 3R SUER

[

BB T
. hiepy TrdTHe
4. ng St

Options :
68634020165. 1

L]



68634020166. 2
68634020167. 3
68634020168. 4

Question Number : 43 Question Id : 6863405094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
IDSP stands for
1. Irrational Disease Survey Programme
2. Integrated Disease Strategy Program
3. Integrated Disease Surveillance Project
4. Integrated Disease Surveillance Programme
Options :
68634020169. 1
68634020170. 2

68634020171. 3
68634020172. 4

Question Number : 43 Question Id : 6863405094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IDSP &1 g4 A4 &
1. 3T fSfort 9d wmH
2. Sehics oot ol UM
3. s feforw uidaiy diviae

4. 321U fSfore Aideiy wam

Options :

68634020169. 1
68634020170. 2
68634020171. 3
68634020172. 4

Question Number : 44 Question Id : 6863405095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'NVBDCP' stands for -
1. National Variables in Biological Deficient Control Policy

2. National Vector Borne Disease Control Programme

LF%]

. National Vulnerable & Biological Disaster Control Programme
4. Nagrik Vikas, Bahaduri, Doordrishti. Chatur Pariyojna

Options :

68634020173. 1

68634020174. 2

68634020175. 3
68634020176. 4

Question Number : 44 Question Id : 6863405095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NVBDCP' &1 RTAH G -
1. 79 dRUE 34 dEldifviod [Sthiiue deid lier!
2. AW AR 91 (Sforel dreld W

3. 42 d deivad Us aridiioied [SoRex deid HiamH
4. AR fqeT¥, deTgil . SRy, IqR uRareH

Options :

68634020173. 1
68634020174. 2
68634020175. 3
68634020176. 4

Question Number : 45 Question Id : 6863405096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

NCDC stands for

1. National Centre for Disease Control

[

. National Centre for Dramatic Culture
3. National Commission for Drugs and Cosmatics

4, National Centre for Dresses and Cosmatics

Options :
68634020177. 1



68634020178. 2
68634020179. 3
68634020180. 4

Question Number : 45 Question Id : 6863405096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NCDC &1 I=1 7 &
1. A Hex BR (5ol s
2. 4 Yol BR gHfcH Do
3. YA HHIYAE BR 39 US B
4. IR YeX PR ouo TS BIAcay

Options :

68634020177. 1
68634020178. 2
68634020179. 3
68634020180. 4

Question Number : 46 Question Id : 6863405097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The characteristics of Primary Health care is -

A. More complex problems are dealt with

B. Second level of referral

C. It 1s the first level of contact of the community with the health system.

D. Most of the health problems of the people are dealt with and it 1s very effective.

E. Has medical officers with basic medical qualification. assisted by nursing and paramedical persons.

Choose the most appropriate answer from the options given below:

1. C. E and A only

| )

.C.D and E only
3.A.C.Band E only

4.B.D. A and E only

Options :

68634020181. 1
68634020182. 2
68634020183. 3
68634020184. 4



Question Number : 46 Question Id : 6863405097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e T YT @ faRean &

A, M Sfed Tranat & Yo o 8|

B. g X D[ P

C. T8 THEE & W YUIe & 91y Ju% &1 UH TR 8

D. T &1 ST g TR S Geasnal ordl § S I8 9gd UHE g

Emmgwﬁwmmﬁwwm%W%mem
Helddl EIGIE

1 fau U famed! H 9 68 SUgE IR &1 994 B
1. %ad C.E 3R A
2.%ad C.D3RE
3. PAAA.C.BHRE
4. $ad B.D. A JRE

Options :

68634020181. 1
68634020182. 2
68634020183. 3
68634020184. 4

Question Number : 47 Question Id : 6863405098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Comumunity diagnosis is important because -

A. To know status of health

B. To understand disease epidemiology

C. To know major health problems

D. To calculate prevalence of disease

E. To know factors causing these health problems

Choose the correct answer from the options given below:

1. A,D, C.E only

| )

.B.D.E.Aonly
3.A. Cand E only

4. C.D and E only

Options :
68634020185. 1



68634020186. 2
68634020187. 3
68634020188. 4

Question Number : 47 Question Id : 6863405098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. W B &Y & 8
B. 3T fag I3 &g
C. T30 WY 909l & 8
D. IFT YTl 0T 8
E. 3 WY U134 & ITREM] RS S 8q
i< fau Y fdeedl © § 99 Sugad TR &1 99 iy
1.Bdd A D.C.E
2. $4dB.D.E. A
3.%dd A.C 3IRE

4. PGAC. D ARE

Options :

68634020185. 1
68634020186. 2
68634020187. 3
68634020188. 4

Question Number : 48 Question Id : 6863405099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ideal number of ANC visits required are

1.3

[ ]
il

3.4
4.8

Options :

68634020189. 1
68634020190. 2
68634020191. 3
68634020192. 4



Question Number : 48 Question Id : 6863405099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHTTH ANC ER] B ST TS &

1 B

-J
- ]

3.4
4.8

Options :

68634020189. 1
68634020190. 2
68634020191. 3
68634020192. 4

Question Number : 49 Question Id : 6863405100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Cross sectional study provides 'Prevalence of the disease’ under study.

Reason R: Cross-sectional study is based on the single examination of a cross-section of a population 'at one
point of time'".

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R i1s the correct explanation of A.

| )

. Both A and R are true and R is NOT the correct explanation of A.
3. A 1s true but R is false.

4. A is false but R is true.

Options :

68634020193. 1
68634020194. 2
68634020195. 3
68634020196. 4

Question Number : 49 Question Id : 6863405100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=19 3 YA U 7T §: TF SATDHYT (Assertion A) P 30 T [ARET § o GHR1 3HS BRI (Reason R) F IU
af

HUBYT A: BIY- ARAT T, TGN I B IS TaTaT U= Sl ol

%‘TITUTR: HIg- YFIA g fordll U 90g W S8 & (et h1g-TaeH o1 Ued oird IR 3Umid
I

SRIG DY & HTaild 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 SIfog:

A 3R R A TEI § AR R. A DI el RS &
A STR R Gl U8l § SRR, A S U8 oore el ©
AT EAPIR TS

[y

b2

L¥ 5]

AT TS AT RIS E

Options :

68634020193. 1
68634020194. 2
68634020195. 3
68634020196. 4

s

Question Number : 50 Question Id : 6863405101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: A cohort study 1s more appropriate when the disease or exposure under investigation is rare. in
comparison to case control study.

Reason R: A cohort study starts with people exposed to risk factor or suspected cause while can case control
starts with disease.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.

| ]

. Both A and R are true and R is NOT the correct explanation of A.
3. A 1s true but R i1s false.

4. A is false but R is true.

Options :

68634020197. 1
68634020198. 2
68634020199. 3
68634020200. 4



Question Number : 50 Question Id : 6863405101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & YA AU T §: U9 SHTHDHUT (Assertion A) P 30 T [ARET § o IR 3P HRUT (Reason R) F IU
.

@A A: AT FRE0 ST $1 ga 8 U9 94g S 99 95 $ifUe SR § 5 §id & i
I G FGIET UH &

BRI R: g AL A1 & GlIIEH SRS 1 H4ERIE HRP P H1Y Faia- I ARY Tial © el e
T e A % Y IR BT 8

SWRIG BYH & HTciid H, i< f3U U fdeedi T I 9 Sugad SR &1 94+ SIfug:

1. A SRR &HI ¥el § SR R. A D! Uel ARHA &

A SRR T O € SR R A T TE oo i €
AT AGTIR T TS &

4. AGEI Sl g AP R WE®

Options :

68634020197. 1
68634020198. 2
68634020199. 3
68634020200. 4

| )

Question Number : 51 Question Id : 6863405102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Epidemiological triad | 1. |State of social dvsfunction
= i sk 11 [Rehabilitation
prevention
C. |Sickness 1T |Agent, host, environment
D 1;\'_a‘cura]'. history of v Course of disease process without
" |disease " hntervention

Choose the correct answer from the options given below:
1. A-IV, B-IIL C-II, D-I
2. AL, B-II. C-IV, D-1
3. AL B-II. C-1. D-IV

4. A-IL. B-III. C-1. D-IV



Options :

68634020201. 1
68634020202. 2
68634020203. 3
68634020204. 4

Question Number : 51 Question Id : 6863405102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T T
_[arufes v fagH faee)| 1 [amfee gieed o [Ryfd

A TR UDYUH 1L [ga19
111 [Usie, Aoa, ggia<on

ZEGH
e @1 nrefae, 3ider™ | 1V [gRaald & feeT 3 uisha &1 gy
fAafaRad foweal & O Ot SO &1 994 Difog -

1. A-IV. B-III. C-II. D-I

ol Fod o] g

| ]

A-IL B-II. C-IV. D-I
3. A-II1. B-11. C-1. D-IV
4. A-IL. B-III. C-I. D-IV

Options :

68634020201. 1
68634020202. 2
68634020203. 3
68634020204. 4

Question Number : 52 Question Id : 6863405103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST I
A [Epidemiology of cholera studied by I. |Poliomyvelitis
B. |Alma Ata Conference IT. John Snow
C. lmmunization is I 1978
D. |Disease eradicated in India IV. [Health Promotion

Choose the correct answer from the options given below:

1. A-IV, B-I1I. C-II. D-I

| ]

A-ILL B-1II, C-1. D-IV
3. A-IL. B-III. C-IV, D-I
4. A-IIL, B-II. C-1. D-IV

Options :

68634020205. 1
68634020206. 2
68634020207. 3
68634020208. 4

Question Number : 52 Question Id : 6863405103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

g 1 g 1
A [B9 & SHUCE IFTGTH HEOE fear )| 1 [gieaEace iy
B. |31 e THTH 1. [S9 =1
C. [Fi@mu e 11978
D. [4d T A I V. [
fFafead fas el & 9 Il 3R &1 90 ST

1. A-IV. B-I11. C-1I. D-I

| ]

A-IL B-1ILL. C-1, D-IV
3. A-II, B-III, C-IV. D-I
4. A-I1, B-11. C-1. D-IV

Options :

68634020205. 1
68634020206. 2
68634020207. 3
68634020208. 4



Question Number : 53 Question Id : 6863405104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A et pOpu]_E_ltlDIl stowih I |Chemotherapy of Tuberculosis
rate country
Example of secondary I Total number of cases at given
" lprevention " [point of time in a given population
C. |Case Fatality Rate 1I1. Belgium
D. [Prevalence IV [Indicate Severity of Illness

Choose the correct answer from the options given below:
1. A-IIT, B-1. C-IV. D-II
2. AL B-IV, C-I1, D-I
3. A-L. B-II. C-III. D-IV
4. A-IV. B-11I. C-I1. D-I

Options :

68634020209. 1
68634020210. 2
68634020211. 3
68634020212. 4

Question Number : 53 Question Id : 6863405104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T 1 T 1T
R S Ui a2 o | L [quic® &f gt
e g THYUH B Jaev) 11 [Ued 8E § f6U 70 I97 I JHd] &) oo S8
AT SUTdedl oY 111 [diestad
I IV, [&70ra1 &1 @odT q=idl &

FafaRad o eal © O 9gl SR & 994 DI

1. A-IIL B-1. C-IV, D-II

ofofw>

| ]

AL B-IV. C-11. D-1
3. A-L. B-1. C-III. D-IV
4. A-IV, B-IIL. C-II. D-I

Options :
68634020209. 1



68634020210. 2
68634020211. 3
68634020212. 4

Question Number : 54 Question Id : 6863405105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Spectrum of I Process by which result compared with
©7 |disease " lintended objective
. [Virulence II. [Early diagnosis and treatment
. Secondaﬂ_.' 1 Proportion of clin_i-::a]’. cases resulting in
prevention severe manifestation
o st IV Gi_'aphic repr'_e?entajrion of variation in
Disease manifestation

Choose the correct answer from the options given below:

1. A-IV. B-III. C-II. D-I

| )

AL B-ILL C-IOLL. D-IV
3. A-IV, B-I1I. C-I. D-II
4. A-III. B-IV. C-I1. D-1

Options :

68634020213. 1
68634020214. 2
68634020215. 3
68634020216. 4

Question Number : 54 Question Id : 6863405105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 i 11 9 i Sife

Tt 1

T I

A Rrrerares | 1 [ufesa forgd ulvons &1 3iesd. I5=d | Jei-l &l oidi
B_ [f[quraddn 11 [Zre3fTdl MaH 3R JUAR

C. [Fediae Iy 11 [Fe- wiass= H URod g1 ard Hali-e] 318l & 30|
D. [qeai® IV. RIFT Ofee 0ot H [gaer &1 Aifthe =00l

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-IV. B-I11. C-1I. D-I

2. A-L. B-11. C-III, D-IV

3. A-IV. B-1II. C-I. D-II

4. A-I11, B-IV. C-I1, D-I

Options :

68634020213. 1
68634020214. 2
68634020215. 3
68634020216. 4

Question Number : 55 Question Id : 6863405106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: NVBDCP deals with vector borne disease.
Reason R: Malaria is a vector borne disease.

In the light of the above statements. choose the correct answer from the options given below:

1.

| )

4.

Both A and R are true and R is the correct explanation of A.

. Both A and R are true and R is NOT the correct explanation of A.

. A 1s true but R is false.

Options :

68634020217. 1
68634020218. 2
68634020219. 3
68634020220. 4

Question Number : 55 Question Id : 6863405106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A is false but R is true.

Correct Marks : 4 Wrong Marks : 1



4 & YA QU & U SAUDYT (Assertion A) P ¥U T [ARId © A U 3HP DRI (Reason R) B TY
=t

@Y= A: NvBDCP A SIfFd I & Fgedar B
HROT R: AR TP ar A-d I 5
SRIS Y & HTalld 1, H1d 3y 7Y fdeedi T I 9 Sugad SR &1 99+ SIfog:

A 3R R TEI § R R. A DI el RS &

[y

A SRR G U8l § SRR AT TS oored el ©

[

AT EAPIR SIS
4. ATE R AR TS

Options :

68634020217. 1
68634020218. 2
68634020219. 3
68634020220. 4

L]

Question Number : 56 Question Id : 6863405107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

Secondary Health Type of epidemiological study deals
A L. .

Care with risk factor of disease
B. |Analytical II. [Community health centre

MVid vear population [Universally accepted indicator for
C. IIT.

refers health status

Infant Mortality . '

2 o

D- Rate IMR) IV- Puly 1

Choose the correct answer from the options given below:
1. A-L. B-II. C-III. D-IV
2. A-IV, B-I1I. C-I1, D-I
3. A-IL B-1. C-IV, D-III
4. A-I, B-II, C-III. D-IV

Options :
68634020221. 1



68634020222. 2
68634020223. 3
68634020224. 4

Question Number : 56 Question Id : 6863405107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T 1 T 11
fedigm W cayTd 1. {71 @ S ®R® Y e aid SHuia® I a9 HEH 3 JaR]
EEGEEIGED 1L [gHeite ER &7
e Y S HalHd @Xdl & | 111 [y wR @1 YIS ©idd Ybde

RER @R [V [ 9E
FrafaRad faeedl & 9 951 SR &1 99+ BifolU :

1. A-I. B-II. C-III. D-IV

ofofw]s

| o

. A-IV, B-III. C-II. D-1
3. A-IL, B-1. C-IV, D-III
4. A-1. B-I1. C-III, D-IV

Options :

68634020221. 1
68634020222. 2
68634020223. 3
68634020224. 4

Question Number : 57 Question Id : 6863405108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Web of causation for Myocardial infarction-

A. Coronary Occlusion

B. Myocardiam infarction
C. Myocardial Ischaemia
D. Changes in lifestyle

E. Coronary atherosclerosis

Choose the correct answer from the options given below:

1.D.EA C.B

| )

A, B.C.D.E

3:B.BC. B A

4. B.C.A.E.D



Options :

68634020225. 1
68634020226. 2
68634020227. 3
68634020228. 4

Question Number : 57 Question Id : 6863405108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geueiiy faeuur & SR &1 T8l 99Td §

A BE- YHAT ARy

B. g g &R UHE T

C. BaxURIENY

D. Sfig-2ret & ufada

E. §&- Y01 TRIGERINY

1= fau e fa el § 9 998 Iugad SR &1 98- S

1. D—-E—A—-C—B

| )

. A—=B—C—=D—E

L

.E=D—=C—B—A
4. B—-C—A—E—-D

Options :

68634020225. 1
68634020226. 2
68634020227. 3
68634020228. 4

Question Number : 58 Question Id : 6863405109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Steps in Network analysis

A Start providing services
B. Equipment installed

C. Staff Trained

D. Plan Services

E. Staff recruited

Choose the correct answer from the options given below:

1. AB.C,D.E

[ ]

B G EA
.CDEAB
4D, BB A

Options :

68634020229. 1
68634020230. 2
68634020231. 3
68634020232. 4

Question Number : 58 Question Id : 6863405109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e iy # I §

i< fau Y fdeedl © § 99 Sugad TR &1 99 iy

1. ASB—C—D—E
2. B0 ST 3B A
3. C»D—E—A—B
4. DE—C—B—A

Options :

68634020229. 1

68634020230. 2

68634020231. 3
68634020232. 4



Question Number : 59 Question Id : 6863405110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Partograph is a graphic record of progress of labour and condition of pregnant women and
foetus.

Statement IT: Dilatation of cervix. pulse. BP and FHR are recorded on standard graph

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.

| )

. Both Statement I and Statement II are false.
3. Statement I is correct but Statement II 1s false.

4. Statement I 1s incorrect but Statement II 1s true.

Options :

68634020233. 1
68634020234. 2
68634020235. 3
68634020236. 4

Question Number : 59 Question Id : 6863405110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R
U 1. TTers Madt Afganel SR FRE! 31 vRyfa Seeh ok Rufad & srden o wiive RIS B
@ 11 Fida, ATS1. a1 SR TBTg R AR O-s 9% R Rele Bu e g |
SWRIdd HYF & 3l J, 1= f3U T fadwedi & I Fel 3ok &1 99 Difee:

1. BYTI IR IS I &
YT AR IS AT T

FYTI T 5. AP HYT I HTT &

2

LFN]

4. YT AT . Al PYT I T &

Options :

68634020233. 1
68634020234. 2
68634020235. 3
68634020236. 4

Question Number : 60 Question Id : 6863405111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: AEFT is any untoward medical occurrence which follows immunization which have a causal
relationship with the usage of the vaccine.

Statement IT: Coincidental event is a type of AEFI arising from anxiety about the immunization.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I 1s correct but Statement IT 1s false.
4, Statement [ is incorrect but Statement II is true.
Options :
68634020237. 1
68634020238. 2

68634020239. 3
68634020240. 4

Question Number : 60 Question Id : 6863405111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. FYTI3EI e AfpT Py 1 9T &

Options :

68634020237. 1
68634020238. 2
68634020239. 3
68634020240. 4



Question Number : 61 Question Id : 6863405112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: ANC endeavors to provide care to all pregnant women with special emphasis on identification of
"high-risk" pregnancies.

Statement IT: Identification of "high risk" pregnancies is one of the important strategies to reduce maternal
mortality.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is correct but Statement II 1s false.
4. Statement I 15 incorrect but Statement II is true.
Options :
68634020241. 1
68634020242. 2

68634020243. 3
68634020244. 4

Question Number : 61 Question Id : 6863405112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el
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Options :

68634020241. 1
68634020242. 2
68634020243. 3
68634020244. 4



Question Number : 62 Question Id : 6863405113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Steps of Human Development

A. sperm fertilize ova and form zygote
B. Embryo formation

C. Foetus

D. Child

E. Adult

Choose the correct answer from the options given below:
1.C,B.D,E A
2EAB.C,D
3.JAB,C,D.E
4.D.E.A B.C

Options :

68634020245. 1
68634020246. 2
68634020247. 3
68634020248. 4

Question Number : 62 Question Id : 6863405113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. C—=B—=D—=E—A

|

.E—=A—-B—-C—=D
3. A-B—-C—D—E
4 D—E—A—-B—-C
Options :

68634020245. 1
68634020246. 2



68634020247. 3
68634020248. 4

Question Number : 63 Question Id : 6863405114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IUDs consists of -

A, Cu-T-380A
B. Cu-T-380B
C. Multiload 375
D.NovaT

E. Lippes loop

Choose the correct answer from the options given below:
1.A.C.D and E only
2.A.B.C.Donly
3.B.C.D.E only

4.A.B.D.E only

Options :

68634020249. 1
68634020250. 2
68634020251. 3
68634020252. 4

Question Number : 63 Question Id : 6863405114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A. Cu-T-380A
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Options :

68634020249. 1
68634020250. 2
68634020251. 3
68634020252. 4

Question Number : 64 Question Id : 6863405115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which year, the world was declared free of small pox :

1. 1980

| B

. 1976
3.1973
4, 1984
Options :
68634020253. 1
68634020254. 2

68634020255. 3
68634020256. 4

Question Number : 64 Question Id : 6863405115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fore af o fay o1 SIS A1a1/ =% ¥ god Uit foar mar o -

1. 1980

| o

. 1976
3.1973
4. 1984

Options :

68634020253. 1
68634020254. 2
68634020255. 3
68634020256. 4

Question Number : 65 Question Id : 6863405116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The risk factors of diabetes mellitus are:

A. Mosquito bite

B. Lack of Exercise

C. Stagnant water

D. Alcohol consumption

E. Consumption of unhealthy foods

Choose the correct answer from the options given below:
1. B.D and E only
2. A. D and C only
3.D.A.B.E only

4.C.D.B. Aonly

Options :

68634020257. 1
68634020258. 2
68634020259. 3
68634020260. 4

Question Number : 65 Question Id : 6863405116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HyOE (SHAlaci) Iadley & SifgH PR o
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1.%ad B, D ARE
2. %ad A. D3R C
3.$ddD.A.B.E
4.%dd C.D.B.A

Options :

68634020257. 1
68634020258. 2
68634020259. 3
68634020260. 4



Question Number : 66 Question Id : 6863405117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is/are risk factor (s) for non-communicable disease?

A. Cigarette use and other forms of smoking

B. Low vaccination coverage

C. Life style changes (dietary patterns, Physical activity)
D. Immuo deficiency

E. stress factors

Choose the correct answer from the options given below:

1. A. C and E only

[ ]

.B.D and E only
3.C.E and B only

4. D and A only

Options :

68634020261. 1
68634020262. 2
68634020263. 3
68634020264. 4

Question Number : 66 Question Id : 6863405117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634020261. 1
68634020262. 2
68634020263. 3
68634020264. 4

Question Number : 67 Question Id : 6863405118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the correct order of the following stages in a case of cholera?

A. Stage of evacuation
B. Stage of recovery
C. Stage of collapse

Choose the correet answer from the options given below:

1. C.B. Aonly
2.B.A. Conly
3.A.C.Bonly
4. A.B. C only

Options :

68634020265. 1

68634020266. 2

68634020267. 3
68634020268. 4

Question Number : 67 Question Id : 6863405118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634020265. 1



68634020266. 2
68634020267. 3
68634020268. 4

Question Number : 68 Question Id : 6863405119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Aedes Mosquite] . |Onchocerciasis
B. |Sand fly IT. |Sleeping sickness
C. |Black flyv III. |Yellow Fever
D. [Tsetese flv IV. |[Kala-azar

Choose the correct answer from the options given below:

1. A-III, B-IV. C-1. D-II

| ]

AL B-1, C-IV, D-11
3. A-IV, B-IIL. C-I. D-II
4. A-IV. B-1I. C-1, D-III

Options :

68634020269. 1
68634020270. 2
68634020271. 3
68634020272. 4

Question Number : 68 Question Id : 6863405119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020269. 1
68634020270. 2
68634020271. 3
68634020272. 4

Question Number : 69 Question Id : 6863405120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Steps 1in life cycle of Malaria parasite -

A. Cyst in mosquito gut gets burst and release sporozoites

B. Sporozoites reaches to salivary gland of mosquito

C. Mosquito bites human host and inject saliva with sporozoites
D. Exoerthrocytic multiplication in human liver takes place

E. Merozoites release mto blood stream of human and cause fever.

Choose the correct answer from the options given below:

1. A-B—C—D—E

| )

. E=D—=C—=B—A
3.C—=D—E—A—B
4. B—A—E—D—C

Options :

68634020273. 1
68634020274. 2
68634020275. 3
68634020276. 4

Question Number : 69 Question Id : 6863405120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-B—C—D—E

b2

. E—=D—C—B—A
3. C—=D—E—A—B
4. B—A—E—-D—C

Options :

68634020273. 1
68634020274. 2
68634020275. 3
68634020276. 4

Question Number : 70 Question Id : 6863405121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Life cycle of Malaria parasite in Mosquito
A, Zygote formation
B. Ookinete (Motile zygote)
C. Penetrate outer layer of stomach wall and encyst

D. Oocyst grows, cyst burst and release sporozoites
E. Sporo zottes through body cavity reaches to salivary gland

Choose the correct answer from the options given below:
1LEARD.E
22B.A,C,D,E
33AABCIDLE

4. E.D.A. B.C

Options :

68634020277. 1
68634020278. 2
68634020279. 3
68634020280. 4



Question Number : 70 Question Id : 6863405121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.C=A—-B—D—E
2. B—A—-C—D—E
3. A—-B—-C—D—E
4. E-D—A—B—-C
Options :
68634020277. 1
68634020278. 2

68634020279. 3
68634020280. 4

Question Number : 71 Question Id : 6863405122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not true of Measles

1. High secondary attack rate

[ )

. Only one strain causes infection
3. Not infections to pro-dromal stage
4. Infection confers life long immunity

Options :

68634020281. 1
68634020282. 2
68634020283. 3
68634020284. 4

Question Number : 71 Question Id : 6863405122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020281. 1
68634020282. 2
68634020283. 3
68634020284. 4

Question Number : 72 Question Id : 6863405123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Multifacillary" 1s a spectrum of disease seen in -

1.TB

| ]

. Trachoma
3. Tetanus
4. leprosy
Options :
68634020285. 1
68634020286. 2

68634020287. 3
68634020288. 4

Question Number : 72 Question Id : 6863405123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. Tdl
2. G
3. ¢l
4, Y

Options :
68634020285. 1



68634020286. 2
68634020287. 3
68634020288. 4

Question Number : 73 Question Id : 6863405124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tick - borne diseases is -

1. Tularemia

[ )

. Q fever
3. Relapsing fever
4. Rocky mountain spotted fever

Options :

68634020289. 1
68634020290. 2
68634020291. 3
68634020292. 4

Question Number : 73 Question Id : 6863405124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020289. 1
68634020290. 2
68634020291. 3
68634020292. 4

Question Number : 74 Question Id : 6863405125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



API stands for -
1. Annual Parasitic Index

2. Average Parasitic Index

L¥ 5]

. Animal Parasitic Interval

4. Animal Parasitic incidence

Options :

68634020293. 1
68634020294. 2
68634020295. 3
68634020296. 4

Question Number : 74 Question Id : 6863405125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QU3 BT g1 -4 &-

T3 IR sory

TS RIfe® g5

Options :

68634020293. 1

68634020294. 2

68634020295. 3
68634020296. 4

—

| )

s

=S

Question Number : 75 Question Id : 6863405126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Post exposure vaccine is used in -

1. Pertussis

[

. TB
3. Rabies
4. Tetanus
Options :

68634020297. 1
68634020298. 2



68634020299. 3
68634020300. 4

Question Number : 75 Question Id : 6863405126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEUIE uyId <idh &1 WaiT fobar ird 8-
1. TRy

=

2. Al
3. 3@l
4. feeTg

Options :

68634020297. 1
68634020298. 2
68634020299. 3
68634020300. 4

Question Number : 76 Question Id : 6863405127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Famous large sample study for coronary heart diseases is -
1. Oxford study
2. Framingham study
3. National Family Health Survey

4, Milestone study

Options :

68634020301. 1
68634020302. 2
68634020303. 3
68634020304. 4

Question Number : 76 Question Id : 6863405127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020301. 1
68634020302. 2
68634020303. 3
68634020304. 4
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Question Number : 77 Question Id : 6863405128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Acculturation is:

1. Attitude

(B

. Belief
3. Triage
4. Cultural change due to socialization
Options :
68634020305. 1
68634020306. 2

68634020307. 3
68634020308. 4

Question Number : 77 Question Id : 6863405128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. 3fHgf
fasra
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Options :



68634020305. 1
68634020306. 2
68634020307. 3
68634020308. 4

Question Number : 78 Question Id : 6863405129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Nuclear family consists of -

1. Husband. wife and son

(B

. Husband. wife and dependent children
3. Husband and wite only
4. Father, mother, husband and wife

Options :

68634020309. 1
68634020310. 2
68634020311. 3
68634020312. 4

Question Number : 78 Question Id : 6863405129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020309. 1
68634020310. 2
68634020311. 3
68634020312. 4

Question Number : 79 Question Id : 6863405130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Social pathology is -

1. Study of social problems which cause disease in population

[

. Contflicts arising from new opportunities in transitional societies

L]

. Study of human relationships and behaviour
4. Change in disease pattern due to change in life style

Options :

68634020313. 1
68634020314. 2
68634020315. 3
68634020316. 4

Question Number : 79 Question Id : 6863405130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
rTToTes TS ©-

1. SHEET H I o drcll IrEifsie gasrsii o1 g

2. YR HUITHS TSI H FU 3aOR] 91 39 ehd
3. O1d Y& 3R SJdgR &1 g
4, Sig-=icl # gRad= & BRI UG 8 gRadT

Options :

68634020313. 1
68634020314. 2
68634020315. 3
68634020316. 4

Question Number : 80 Question Id : 6863405131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is placed at the top of pyramid. according to Maslow's hierarchy of needs:

1. Self actualization

[

. Safety
3. Physical needs
4. Esteem recognition

Options :
68634020317. 1



68634020318. 2
68634020319. 3
68634020320. 4

Question Number : 80 Question Id : 6863405131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR &1 HTaRgdHdl Q91! & HTHR FHafeiad 0 8 S RIS ¥ 9ed iR 82

1. 3f7- gRgofd
RET
QRIS STavgdhdl

[

L]

4. JHI HI-GAT

Options :

68634020317. 1
68634020318. 2
68634020319. 3
68634020320. 4

Question Number : 81 Question Id : 6863405132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a component of the health belief model?

1. Perceived barriers

[

. Perceived severity

L]

. Perceived behavioural control
4. Perceived susceptibility

Options :

68634020321. 1
68634020322. 2
68634020323. 3
68634020324. 4

Question Number : 81 Question Id : 6863405132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafad & 9 o wea oy ufaey o 3aqm g 82

1. SIYTHTHS F19T0

[

ST TES T8

 FIEATHTHS HagRIHS a0
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Options :

68634020321. 1
68634020322. 2
68634020323. 3
68634020324. 4

L]

=

Question Number : 82 Question Id : 6863405133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Socioeconomic status in urban areas is indicated by which of the following :

1. Physical quality of life index

[ ]

. Human development index
3. Sullivan index
4. Kuppuswamy scale
Options :
68634020325. 1
68634020326. 2

68634020327. 3
68634020328. 4

Question Number : 82 Question Id : 6863405133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e &= & arrfoe snfife wox fufalea & @ foas gro 2 fear o &:
. Sita Fa@id &1 YRR Turad]
T4 [dpE gaoic

—

| )

[#5]

. H1ferd Yabich

4. PP YA

Options :



68634020325. 1
68634020326. 2
68634020327. 3
68634020328. 4

Question Number : 83 Question Id : 6863405134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"SDG" stands for:

1. Sustainbale Desired Goal

| ]

. Suitable Development Goal
3. Sustainbale Development Goal
4. Successful Development Goal

Options :

68634020329. 1
68634020330. 2
68634020331. 3
68634020332. 4

Question Number : 83 Question Id : 6863405134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"SDG" &1 IR 71 B

1. TAdd fEoms |

| S

. gud Sga9He Md

3. gic-9d Sgagie Md

4. P SAAUHE TNid

Options :

68634020329. 1
68634020330. 2
68634020331. 3
68634020332. 4

Question Number : 84 Question Id : 6863405135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Salmonella food poisoning 1s most commonly caused by :

fa—y

. Styphi
2. Salmonella thyphimurim
3. S. enteritidis

4. 8. Cholerae-suis

Options :

68634020333. 1
68634020334. 2
68634020335. 3
68634020336. 4

Question Number : 84 Question Id : 6863405135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

raH - @re fauTar el fode gRIgidl 8
1. TP
2. e YRt gRay
3. 09, =chifefey
4. TH DIl -ggd

Options :

68634020333. 1
68634020334. 2
68634020335. 3
68634020336. 4

Question Number : 85 Question Id : 6863405136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Vit. A deficiency is the leading cause of preventable blindness in children.

Reason R: Nightblindness 1s classically associated with Vit. A deficiency.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A.

b2

. Both A and R are true and R is NOT the correct explanation of A.
3. A is true but R is false,

4. A is false but R 1s true.



Options :

68634020337. 1
68634020338. 2
68634020339. 3
68634020340. 4

Question Number : 85 Question Id : 6863405136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=19 3 YA U 7T §: TF SATDHYT (Assertion A) P 30 T [ARET § o GHR1 3HS BRI (Reason R) F IU
af

Y A eI A Bt oot aras! o Aeyrarg e 31 935 FRU |
BRUR: TdiE DI WRATG 9 U e A $1 ! 3 Sisl ol g
SWRIKI HYA & el o, i Gy 7Y fasedl ¥ 9 9ad SUgH SR &1 90 B
1. A SR R 31 981 8 AR R. A P Hel oUReAT 8
2. A SR R 3 W6 € SIR R, A B Hel RS 61 &
3. AT R AP R TR
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Options :

68634020337. 1
68634020338. 2
68634020339. 3
68634020340. 4

Question Number : 86 Question Id : 6863405137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most important essential fatty acid is

1. Stearic acid

| B

. Linoleic acid
3. Arachidonic acid

4. Linolenie acid

Options :

68634020341. 1
68634020342. 2
68634020343. 3
68634020344. 4



Question Number : 86 Question Id : 6863405137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ja8 Agayul Afrerd a8y Saw &
XuRe s
A REIREEAYTE
RIS TS
feFidfe whrs

oy

| )

L

=Y

Options :

68634020341. 1
68634020342. 2
68634020343. 3
68634020344. 4

Question Number : 87 Question Id : 6863405138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1s an example of non essential amino acids?
1. Histidine
2. Arginine
3. Valine
4. Lysine
Options :
68634020345. 1
68634020346. 2

68634020347. 3
68634020348. 4

Question Number : 87 Question Id : 6863405138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'}

4. AR

Options :

68634020345. 1
68634020346. 2
68634020347. 3
68634020348. 4

Question Number : 88 Question Id : 6863405139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Vitamin H is also referred to as :

1. Niacin

(B

. Keratin
3. Riboflavin
4. Biotin
Options :
68634020349. 1
68634020350. 2

68634020351. 3
68634020352. 4

Question Number : 88 Question Id : 6863405139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faeTii v ! Frafafad i oe o &
1. framfEm
2. BRIfed
3. ASETGTA
4. ST

Options :
68634020349. 1



68634020350. 2
68634020351. 3
68634020352. 4

Question Number : 89 Question Id : 6863405140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Overweight is defined as :

1. BMI 25 - 29.9 kg/m?
2. BMI > 25 kg/m?
3. BMI 25 - 30 kg/m*
4. BMI = 25 kg/m?

Options :

68634020353. 1

68634020354. 2

68634020355. 3
68634020356. 4

Question Number : 89 Question Id : 6863405140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIYPUR & FafciRad v9 3 gt favar o §:

1. diumans 25 - 20.0 fhEaae
2. Sumans = 25 faan 2
3. Sfumas 25 - 30 fa?
4. Stumas = 25 faaHi?

Options :

68634020353. 1

68634020354. 2

68634020355. 3
68634020356. 4

Question Number : 90 Question Id : 6863405141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Total number of essential amino acids is :

[ ]
ik
i

4.9

Options :

68634020357. 1
68634020358. 2
68634020359. 3
68634020360. 4

Question Number : 90 Question Id : 6863405141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
H{ar ST Sl Bl e AT §

1. 12

| ]
—
s

4.9

Options :

68634020357. 1
68634020358. 2
68634020359. 3
68634020360. 4

Question Number : 91 Question Id : 6863405142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pellagra is caused by deficiency of :

1. Vitamin B,

| )

. Vitamin B4

L#N]

. Vitamimn B,
4. Vitamin B,

Options :
68634020361. 1



68634020362. 2
68634020363. 3
68634020364. 4

Question Number : 91 Question Id : 6863405142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR fpa! el & gRI Bl 6:
1. faeri B,

2. faeTie B,
3. faerf B,
4. faerft B,

Options :

68634020361. 1
68634020362. 2
68634020363. 3
68634020364. 4

Question Number : 92 Question Id : 6863405143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Food Standard and Safety Authority of India comes under :

1. Ministry of Rural Development

(B

. Ministry of Consumer Affairs

[F5]

. Ministry of Health and Family Welfare
4, Ministry of Agriculture

Options :

68634020365. 1
68634020366. 2
68634020367. 3
68634020368. 4

Question Number : 92 Question Id : 6863405143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR @Te] GRafT 3R A1 Wiftexur fads sfaria simarg?

1. arE [d® 51y
2. IUYiadr AHd 5T
3, WY 3R YNGR Seam Taey
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Options :

68634020365. 1

68634020366. 2

68634020367. 3
68634020368. 4

Question Number : 93 Question Id : 6863405144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the factors are common to both acute and chronic malnutrition?

1. Weight for Age

| B

. BMI

LF¥]

. Height for Age

4. Weight for Height
Options :
68634020369. 1
68634020370. 2

68634020371. 3
68634020372. 4

Question Number : 93 Question Id : 6863405144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y PRSP °IH SR Wi HUNUL, G & oY T THA §2
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Options :
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68634020369. 1
68634020370. 2
68634020371. 3
68634020372. 4

Question Number : 94 Question Id : 6863405145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Anemia is the leading cause of maternal death in India.

Statement IT: Around 50% of females in India are anemic.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s correct but Statement I is false.

4, Statement [ 15 incorrect but Statement I1 is true.

Options :

68634020373. 1
68634020374. 2
68634020375. 3
68634020376. 4

Question Number : 94 Question Id : 6863405145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EICEACAIERANE
B I THITERIT YR O 41g 5¢] 1 Y BRI g |
BYA IT: HRA H G 50% Afga THEar § i |
SWRIad HUA & dAiD H, A S0 0 [dFedi 5§ I Tel 3A &1 994 DIaIg:
1. PYF 1 AR 11 GH 9 &
2. BY 1 R 11 ST 3T §

3. ®YT 1 9d o, Al PUT 1T 3 9d ©

4. BYT IS, AP P I Id &

Options :

68634020373. 1
68634020374. 2
68634020375. 3
68634020376. 4



Question Number : 95 Question Id : 6863405146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consequences of No iron in diet

A. Low Iron diet

B. Iron deficiency

C. Anaemia

D. Shock

E. Deah due to anaemia

Choose the correct answer from the options given below:

1.B.A.D,C.E

[ ]

CABC.DLE
3.B.B,C BA
4. C.B.A.D.E

Options :

68634020377. 1
68634020378. 2
68634020379. 3
68634020380. 4

Question Number : 95 Question Id : 6863405146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STER H W8T (314) Tl 511 & uRumy

A TH ATH ABR
B. HORA HHI

C. g
D. T4 / He DI
E. T & R gyg

i fau U fdeetl © ¥ 99 9ugad SR &1 99 iy

1. B—A—D—C—E
2. A—-B—-C—D—E
3. E—-D—-C—B—A
4. C—=B—A—D—E

Options :
68634020377. 1



68634020378. 2
68634020379. 3
68634020380. 4

Question Number : 96 Question Id : 6863405147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Methylene blue reduction test is for estimating fat content in milk.

Statement II: Pasteurization by Holder method is heating milk at 100°C for 15 minutes.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.

[

. Both Statement I and Statement II are false.

L%]

. Statement I 1s correct but Statement IT is false.

4. Statement [ 1s incorrect but Statement I is true.

Options :

68634020381. 1
68634020382. 2
68634020383. 3
68634020384. 4

Question Number : 96 Question Id : 6863405147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 3l Py feu &

B LAUTge I e IR0 WA g8 T 91 TE B Sfde S & (oY {51 Sl |
FY 11 Tles [A1E §RI Iy SR 1 g8 i 100°¢ W 15 el & fau 1RA a1 S g
SWRIFd BYF & 3l H, A1 4T T f[dwedi & I Hel Gov &1 99 Difoie:
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Options :
68634020381. 1
68634020382. 2

68634020383. 3
68634020384. 4



Question Number : 97 Question Id : 6863405148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LIST I1
A ImBNA I. |Transport amino acids to the ribosomeg
B. fRNA II. [Splicing of pre-mRNA
C. kRNA II1. [Carries information to make proteins
D. [SnENA IV. PMakes Ribosome

Choose the correct answer from the options given below:

1. A-III, B-IV. C-1I. D-I

| ]

CA-TV, B-IIL. C-1, D-I1
3. A-III, B-1, C-IV. D-II
4. A-IV. B-1. C-III, D-II

Options :

68634020385. 1
68634020386. 2
68634020387. 3
68634020388. 4

Question Number : 97 Question Id : 6863405148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 = 11 9 faH Sife
T 1 Ha 10
A [0 3R | 1. [E2ErEE &1 3l 3 ] 9iNded ®dl g
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frafatad fowel 5 9 96t S| &1 994 DI -

1. A-III. B-IV. C-1I. D-I

| ]

A-IV, B-III. C-I, D-I1
3. A-IILL B-1, C-IV. D-II
4. A-IV. B-1, C-III. D-II
Options :

68634020385. 1
68634020386. 2



68634020387. 3
68634020388. 4

Question Number : 98 Question Id : 6863405149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Disinfectant 1s a chemical agent which destroys or inhibits growth of pathogenic micro-
organisms in the non-sporing or vegetative state.

Reason R: An antiseptic 1s a type of disinfectant. which destroys or inhibits growth of micro-organisms on
living tissues without causing injurious effects when applied to surfaces of the body or to exposed tissues.
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.

| ]

. Both A and R are true and R is NOT the correct explanation of A.
3. A 1s true but R i1s false.

4. A is false but R is true.

Options :

68634020389. 1
68634020390. 2
68634020391. 3
68634020392. 4

Question Number : 98 Question Id : 6863405149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020389. 1
68634020390. 2
68634020391. 3
68634020392. 4

Question Number : 99 Question Id : 6863405150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Vaccine Vial Monitor (VVM) 1s a marker of potency but measures cumulative heat exposure
overtime.

Reason R: VVM indicates efficiency of cold chain.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R i1s the correct explanation of A.
2. Both A and R are true and R 1s NOT the correct explanation of A.
3. A 1s true but R 1s false.
4. A is false but R is true.
Options :
68634020393. 1
68634020394. 2

68634020395. 3
68634020396. 4



Question Number : 99 Question Id : 6863405150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & YA AU T §: U9 SHTHDHUT (Assertion A) P 30 T [ARET § o IR 3P HRUT (Reason R) F IU
.
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Options :

68634020393. 1
68634020394. 2
68634020395. 3
68634020396. 4

Question Number : 100 Question Id : 6863405151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Phenyl ketonuria (PKU) is an autosomal recessive trait.

Statement IT: Dairy products, meat, nuts, legumes are preferred to treat PKU.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s correct but Statement I is false.
4, Statement [ 15 incorrect but Statement I1 is true.
Options :
68634020397. 1
68634020398. 2

68634020399. 3
68634020400. 4



Question Number : 100 Question Id : 6863405151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020397. 1
68634020398. 2
68634020399. 3
68634020400. 4



